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Potato and Brinjal differ in this taxon
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Options :
Species

28393617921, ¢ 27€3

Genus
28393617922, ¥ D&

Family

Z0E002)000
28393617923, %

Order
28303617924, % (530350
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Identify the correct statements
80N a5t Moo sk

[ Prof. V.S Ramdas is a famous taxonomist of India
1D D.05R. TR erEBEoS D FH) 0586 T NS

II. 235 rRNA is Ribozyme
23s rRNA 2.8 3BS 2

III.  Genetic nature of RNA was discovered by Watson and Crick
@30.00.0). 28055 0 )N O (85 en B0,

IV.  Cronquist proposed phylogenetic system of classification
1579859 S5¢ D570 S0EBE (DBIFAOTH
Options :
IT and 1V
28393617925. ¢ Il a8 IV

IT and 111
28393617926, ¥ Il s08c3 111

[ and I11
28393617927, % 1 «08a5w 11

[ and IV
28393617928, ¥ 1 0Baw 1V
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Match the arrangement of vascular tissues with the type of steles below.

Stele with medulla surrounded by xylem and phloem I.  Protostele
Dissected Medullated Stele with overlapping leaf gaps  II.  Siphonostele
Medullated stele with non overlapping leaf gaps III. Solenostele
Non-medullated stele with xylem surrounded by phloem IV. Dictyostele

a0 o

1BoA 1H3E0 Emarere) @058 73 |H080 Q0o Srod K605
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EE)S 10085 QoZ5an
d. T80 §FAE S02red0 e80T &) § Bared IV. erersd (a8 oo
10082 OEisdw
Options :
28393617929. ®n ﬂ‘[l]-. b—[V, C—]L d—[

28393617930, # a-111, b-I1, c-1, d-IV
28393617931, % a-1I, b-IV, c-1, d-III

28393617932, ¢ a-11, b-IV, ¢-III, d-1
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Match the three columns and identify the correct combination

Group-I Group-I11 Group-III
1. Puccinia P. White spots in Brassica X. Basidiomycetes
2. Alternaria Q. Leaf rust in Wheat Y. Phycomycetes
3. Albugo R. Early Blight in potato Z.. Deuteromycetes

1508 Dadursrferedd 0P ), BTN Seranda Mdotodk:

el O-1 PSINVS e B | el O-111
1. 38)0alr P, 3308 2 B 200 X, B2AAT VR
2. ed)8arr Q. FnHeS S0 Brben Y. 53D

3. e’ R. 20y 009’ Srch 738 Z. SsBIRIED
Options :
28393617933, * 1 " R-X, 2-Q-Z, 3-P-Y

28393617934, ¢ 1-Q—-X, 2-R-Z, 3-P-Y
28303617935, ® 1-Q—Z, 2—-P-X, 3-R-Y

12393617936, % 1 -Q-Y, 2—-R-X, 3-P-Z
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Which of the following plant examples are wrongly paired with their type of
inflorescence.

808 FES"  wEyew, HN) DTS’ $DIBOM 2SHEIDFON?
A. Hamelia and Solanum — Dichasial cyme

PO AT, FerS0-O (7DD DI)ES ) D00
B. Bougainvillea and Jasmine — Cymule

SHQ DOAT, 270 2- s

C. Hibiscus and Datura — simple Raceme

ARSI AT Seadrn NUNEINS AT cA TS e

D. Cauliflower and Cassia — corymb
SONSB, SFRAT-00H

E. Achyranthes and Grass — Umbel
ePor0LR, HG-H o



Options :
28393617937. ® A, B & D

28393617938, ¢ A, C & E

28393617939, ®# C, D & E

28393617940, % B,C & D
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Which of the following statements regarding endosperm of angiosperms are true?
235985 DS’ @0K G050 H020B0NS (B8oB TS D d3HONSD

A. Endosperm is formed by triple fusion
®050859)50 (BHDOTITHO T°50° DG )C0EHOA.
B. Endosperm is nutritive in function
0500 A0 AOSAE
C. Itis a pre-fertilized structure
2O DOAEBE I8 5 VT 28250.
D. It may or may not be completely utilized by the developing embryo
@SB TOB D00 Ted A J°8 DAVrI0 &0BSIN) BT GOBSED SN
Options :

28393617941, ¢ A, B & D

28393617942, % A, B & C

28393617943, ¥ B,C & D

28393617944, % A, C & D
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An anther of a typical Datura flower produces 256 microspores in each of its
microsporangium. What is the total number of microspores produced by that flower

and how many microspore mother cells are required to form these microspores?

28 Fde SSrE HAN0 g HTETEoTD .88 drd; DY Derdcho 256
28 128528270380 DG B0 €8 00 BRH0 DY 8 i0D2re DS IEToN
0B € K 0D zrer EIKTNEIE DY, arE 8D SrehyfeTen @5080

Options :
28393617945, * 2560, 640

28393617946, % 640, 2560
28393617947, % 1280, 340

28393617948, + 2120, 1280

Question Number : 8 Question Id : 2839364488 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 1 Wrong Marks : 0
Arrange the following events in the order of their occurrence in an angiospermic

flower
233565 D23 A0 2D es HFOS” 267 BHS DOMNEINS SN |XATD) DO°HED
ROV AW

A. Megasporogenesis
QreOVR D23 23880
B. Syngamy
LOCWE doddrro
C. Embryosac development
DOCEH 0DIYO
D. Pollen pistil interaction
DA @odE T HBDIS 58
Options :
28393617949, % BDCA

28393617950, ¥ ACBD



28393617951, ¢ ACDB

28393617952, # DACB
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Find out the wrongly matched groups

1BOA DS 180T $§ed) 2o Do H8osod

A. Datura - bicollateral vascular bundles - Epipetalous stamens
BerS - A 505 r8) 5 TR Hoaren - HHORT DOV Tooren
B. Allium - polyembryony - Protogyny
OANO - 2ITVDOGES - | NeTH DETres 163
C. Smilax - tendril climber - parallel venation
202675 - OBE HIFCHOE D[erE D), - DSTF0BE &Te> T30S0
D. Asparagus - Cladophyll - Xerophyte
SO)TTTR - PEDD - M0 ),
Options :
28393617953, % ABC

28393617954, ¢ BC
28393617955, ¥ BCD

28393617956, ¥ ABCD
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Match the following plants with their Botanical names

1800 BELO& ¢ T RQOH TIFOS 2S5HEB0A

Column — I (232)& — 1) Column — II (a2 — II)
A. Meadow Saffron 1.  Yucca gloriosa
DETIDS aosy, ToErar
B. Red Dragon 2. Smilax zeylanica
08 ™ e Bos
C. Sarasaparilla 3. Dracaena anguistifolia
DBOH (DBDOEF) IR @0MHeSFO AT
D. Spanish Dagger 4,  Colchicum autumnale
e @b & )50 eéra0) S
Options :

28393617957, % A-2, B-3, C-4, D-1
28393617958, # A-2, B-1, C-3,D-4
28393617959« A-4, B-3, C-2, D-1

28393617960 % A-4, B-2, C-1,D-3

Question Number : 11 Question Id : 2839364491 Question Type : MCQ Option Shuffling : Yes Display
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N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A): If the chromosome number is 2n during Gy, after S phase the
chromosome number is the same
Reason (R) : After S phase there is no increase in DNA per cell

ADB0 (A): G & IFIrFAm HopE 21 @onSRB S &F Sares Srar
BN W eI S Ta]

5320 (R): S &% Soreed (98 0005 DNA MG &0k

The correct option among the following is
& 1806 D )5S HDOTHIS

Options :



A and R are true. R is the correct explanation for A
28393617961, % A SDOAW R OBRD. A 5o R 3B D569

A and R are true , but R is not the correct explanation for A
18393617962, % A «DOAW R AP, 5°0 A 50 R D Q20089 5°¢0

A is true, but R is false
28393617963, v A VBIG, SR R OBIE 52

A is false but R is true
28393617964, % A DBIA 575, 5°Q R $BPIE

Question Number : 12 Question Id : 2839364492 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following sentences are true

1808 52065 AR DS RSN

A. The chromosome number of meiocyte in housefly is 6.
&tf DA S IFSTFD HDoyg-6

B. The chromosome number of gamete in Rat is 21.
dend Do Do IFSrdFS Hops-21

C. The chromosome number of meiocyte of fruitfly is 8.
BI°ES D B DB S (F [ dows-8

D. The chromosome number of a leaf cell in maize is 20.
F0%) %) Iy HSE0osS (FIrF dowg-20
Options :

28393617965, % ABC
28393617966, ¥ BCD
28393617967. ¥ CDA

28393617968, ¥ ABCD

Question Number : 13 Question Id : 2839364493 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 1 Wrong Marks : 0



Identify the incorrect statements regarding cell membranes
£22 65 £ TPe5) DOD0H0D) DO W@ HO0LNOG

A. The hydrophilic head of lipids is present towards inner side of cell
membrane.
¥e2 ¢5 60506 ODG @GO S99 (2erERE) ITen ) BHE0 SOEFON
B. The lipids of cell membrane are made of phosphoglycerides
2269 5905 ODE en T IANBE OF E)A Gotron

C. Cell membranes may also contain carbohydrates
¥e2 &5 c508 =8 3R BE en 5 &0k

D. The quasi fluid nature of lipids does not enable lateral movement of proteins
with in the bilayer
@8-(3s5 VB’ &3, ONDE) (¢3S eenye 27185 EEOE0E BSOHE &
e EOROTID

Options :
28393617969, ¢ AD

28393617970. % AB

28393617971, % CD

28393617972, % BC
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Which of the following statements are false regarding the nature of amino acids?
A. The acidity and neutrality of amino acids is based on number of amino and

carboxyl groups.

B. Both NH> and COOH groups of amino acids show ionizable nature.

C. In solutions of different pH, the structure of amino acids does not change.

D. The amino acids have amino group and aldehyde group as substituents on the
same carbon.

e9aeS’ 30350 & £27e950e%0 H020A0D 1B0A 73 315000 T smien DI?

A DS @50, @850 OGN0 B3 & 52w ared e’ Hdain sor8 )08
DANTATE HOoWE 2 eSO SS0

B. NH; 5580350 COOH H30roiren Bodhy ek eadre) eada$Se0 SodKe
0 5233700, T add

C. DS pH en e (rdererey &S’ e3557ey DT3e00 S8

D. o050 essiren 2.8 5078 D i HanmraHo SHBahy esd3rd
DANT AT (DBT Derend EOR &otron

Options :
28393617973, ¥ AB

28393617974, v €D
28393617975, % BC

28393617976, ¥ AD
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Which of the following statements are true regarding lipids?
OE H020SO0D (B0A ¢3S DB TN D ?

a) Glycerol is a simple lipid trihydroxy propane.

ANTS 2.8 DEFDS ODE | TEFIEE) 1TF DS
b) In triglycerides fatty acid is esterified with glycerol.

IBANBE & §95 esdren ANoeS & £OD DHE SErnosS goerom
¢) The melting point of oils is higher than that of fats.

ST RTEen, Fod 10 0T 280285 (D2 rara), 00 eoeron

d) Saturated fatty acids do not have double bonds
D00 T Y1 e B 50men o)

Options :
28393617977, v abd

28393617978, % abc
28393617979, % acd

28393617980, ¥ bed

Question Number : 16 Question Id : 2839364496 Question Type : MCQ Option Shuffling : Yes Display
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Which of the following statements are correct regarding ribosomes?
BEPEINOE Ho0HOD (80 TS DR 7

A. 708 ribosomes have two sub units 50S and 308.
708 55708 ToAS BTN & 508 HOAK0 308 & (DSTearen GoLron

B. 80S ribosomes are present only in Eukaryotes.
80S 55708 ToAN BTN A2z To(&E Bho S Sr|edad Gotron

C. 70S ribosomes are present both in Eukaryotes and Prokaryotes.
708 55°08 TOOS BEFD)) To(SE IS OGN D23 BolBE EHorsS &oerow

D. Ribosomes are not bound by any membrane.
BET,) 585 Sararen

Options :

28393617981, % ABC



28393617982, % ABD

28393617983, ¥ BCD

28393617984, v ABCD
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Which of the following statements are incorrect regarding internal organization of
plant tissues?
R0¥) Seererer @ode Ao7erd8 H02050D 8o 73S HOSR o swsen DN?
A. Phloem parenchyma is absent in dicotyledonous stem

B 1582 0B0T AL 20)0ER2TO0 &OGD

B. Monocot roots do not undergo secondary growth
O BNz S BLOH S5HO TTHY)

C. Hypodermis is sclerenchymatous in monocotyledonous stem
DE BDes 0SB0 @85 1830 B9 Ea2ey CINSOTT G0N0

D. Lysigenous cavities are found in vascular bundles of dicotyledonous stem
B:OY D22 oS00SR DT HoredS ©OOhETS SFTeN GOEFoD

Options :
28393617985, ¥ AB

28393617986, % AC
28393617987, % BC

28393617988, ¢ AD
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Identify the monocot stem characters

I. Exarch xylem
II. Absence of medullary ray
ITII. Presence of bundle sheath
IV. Scattered vascular bundles

DESSD2 00 O Treed HO0TVSD

I. ersrgaded rdvio
II. &s55Ben Doty
III. oessy Stth Hodhey
IV. T3S ordse Hoeren
Options :

28393617989. # [&II

I, IIT & IV
28393617990. ¥

D&V
28393617991. #

28393617992, % LI &IV
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During CO: fixation of photosynthesis, Oxaloacetic acid is formed in which

cells?
889238500037 80%H 5o 2878 COz IS e85 @e38 &0 ) Sererd
D35S0 E?
Options :

Mesophyll cells of C; plants and bundle sheath cells of CAM plants
18303617993, % C3 S0EO J@osd Eezren, CAM Ingo Hozd) St Sered’ 38 )¢

Bundle sheath cells of both Cy4 plants and C; plants
18393617994, # Ca 00050 C3 I o Yoy S&oth oS’ D)



Mesophyll cells of both CAM plants and C4 plants
18393617995, v CAM 800 Cs S0E)© HEP0sS e 8 )ced

Mesophyll cells of CAM plants and bundle sheath cells of C4 plants
18393617996, % CAM S0 J@0esd Seren, Cs S5 0235 Sthrd SeTrereS” DE)eS

Question Number : 20 Question Id : 2839364500 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 1 Wrong Marks : 0
Match the following scientists with the discoveries in photosynthesis

A. T.W. Engelmann i: Glucose production during photosynthesis
B.  Julius Von Sachs 1. Ha2 reduces CO: into carbohydrate

C. Carolius Von Neil  iii.  Green plants release O

D.  John Inzenhousz iv.  Photosynthesis in Cladophora

EMS T NTBOD, 8650 18a%H 8N 8o HOSFOI0A
A, B850 002S DS 0. 88m a5 DoV 1Boh S (rER dres e

B. 27000 a0E) i, Hiz, CO2 0 8 )3rBEBE m oursdoieso
C. (0OMVIITS il %0593 Bndren 02 & dode Taron
D. 28 Q050 575 iv. SEST S §dmzss noddr (§a%

Options :

18393617997, % A-ii, B-1, C-1v, D-1ii
28393617998, # A-1v, B-11, C-1, D-iii
28393617999, % A=, B-iv, C-ii, D-iii
28393618000, ¢ A-iv, B-i, C-ii, D-iii
Question Number : 21 Question Id : 2839364501 Question Type : MCQ Option Shuffling : Yes Display
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The Phosphatase, that catalyses the reaction in which phosphate is removed from
Fructose-1-6-bisphosphate to form Fructose-6-Phosphate belong to which class of

enzymes
EFR-1-6-DD I HoD TR0 SOA0D (HDED-6-T IS T IEIBD 9820
&(@)0650 TAW TP TR, &) OB 4G Ke8 TOHID

Options :

Transterase
18393618001, % (ETQIDOE

Ligase
=
28393618002, ¥ SO

Hydrolase
28393618003, ¥ .15"@@@

Oxido-reductase
28393618004, % &8 E-OGTR

Question Number : 22 Question Id : 2839364502 Question Type : MCQ Option Shuffling : Yes Display
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The essential component of many co-enzymes are

DT OB @67 35358 @0 s GoB o

Options :
Vitamins
28393618005. ¥ DD
Metal 1ons
S @asTS))
28393618006. #
Hormones
28393618007. # JS@SJ
Lipids
)

28393618008. *
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In which of the following reactions of TCA cycle of aerobic respiration NAD is

reduced to NADH +H 7

TSNS 71 BAHES'D TCA 5005065 B 9830 o sor NAD, NADH +H™
£ oHEd0 Toneaod?

A. Oxidation of isocitric acid
DEFE3E e300 38588 e sor
B. Oxidation of a-ketoglutaric acid
0- 865 D08 escho esd 8o oo sor

C. Oxidation of succinic acid
$H805 esso es8\¥8e o sor

D. Oxidation of malic acid
SrOE es500 38388 o soe

Options :
28393618009, ¥ AB

28393618010, ¥ AC
28393618011, % BCD

28393618012, ¢ ABD

Question Number : 24 Question Id : 2839364504 Question Type : MCQ Option Shuffling : Yes Display
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Identify the Plant Growth Regulators that inhibit apical dominance, delay senescence,

promote root hair formation and play an important role in seed development and

maturation respectively are

es[POEged AT, FP5ER) SOILIBEDL0, JIFOTTS DTN (OIS (9HF0)
ZONS0, SB05H DS @YD O HOHEs¢8 ToveroS (Hewp S $5rod
080 HMHA® Aahogdsed Hhioiod



Options :
Auxins, Abscisic acid, Ethylene and Cytokinins
28303618013, % ©8I0en, DR 80, AT, PEIIS

Cytokinins, Gibberlic Acid, Ethylene and Absisic acid
18393618014, ¢ R B, 32)85 @20, 2RO, @5 eho

Cytokinins, Gibberlic Acid, Auxins, Absisic acid
18393618015, % RETBS, 222385 @30, e Sew, @)V edo

Auxins, Ethylene, Cytokinins, Gibberelic acid
28393618016, % S50, ABODS, PE'EIS, )88 eho

Question Number : 25 Question Id : 2839364505 Question Type : MCQ Option Shuffling : Yes Display
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Which of the following statements truly justifies osmosis of water through a

selectively permeable membrane?

s 8 arSB0ses (HBeTred8 ¢ 5090) e sor 28T 3 TBwE), |H9TDNB& & 1Bod
T35S DA HepOarow?

Options :
28393618017 ¢
Movement of solvent from a region of higher solvent concentration to a region of

lower solvent concentration
17563 B30¥) O mhed e |INTF0 oG 1735 BwE) e e Ko (DT70E
(L3968 oS0

28393618018, #
Movement of solvent from a region of lower free energy or chemical potential to

region of higher free energy or chemical potential.
e W) 48 B GaraDdd 450 5700 oD @hE D) 48 B Sarddd
F520 o050 BB (IS IS0

28393618019, #

Movement of solvent from a region of higher solute concentration to a region of
lower solute concentration

1T ehedn T30E) 0¥ mhed e (DTEO DO 1T edadn ) eed)) mrsed fe
IDTFOSEL (37363 erdo



28393618020. *
Movement of solvent from a region of lower water potential to a region of higher
water potential

29e30¢3 3530 K |HTF0 oS ©EENES $530 Ko (DTI0IE0 17988 Sexddo

Question Number : 26 Question Id : 2839364506 Question Type : MCQ Option Shuffling : Yes Display
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N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The net ATP formed by substrate level phosphorylation, oxidation of NADH + H*

and oxidation of FADH; during aerobic respiration of five glucose molecules are

0 (e eosnyen, arain Jared F=dEah o o @38 )88 TodE0 S 9B
S wrane, NADH + H* es81883eacS, so80in FADH) es§ 880 o500 dE&orr

283870 ATP en
Options :
28393618021, # 10,70,10

28393618022, ¢ 20,140,20
28393618023, % 20,160,10

28393618024, % 10,140,10

Question Number : 27 Question Id : 2839364507 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following bacteria get carbon from CO; but derive energy from

oxidation of inorganic substances during bacterial nutrition?

2r8B8aIreS 2650 1800 TS’ D 2§85 CO2 0B 52818 &, & ROOH

JDrgre> es8 8860 @0 45 Fohsron?
Options :

Bacillus and Xanthomonas
28393618025, % TR O FOF IR



Rhodospirillum and Rhodopseudomonas
18393618006, % OO ROV HBAW FEIrE TR

Chromatium and Chlorobium

28393618027, ¥ B X090 80w §8DHA%o

Nitrobacter and Beggiatoa
18393618028, ¢ DS EE 8w BHTIrer

Question Number : 28 Question Id : 2839364508 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following viruses are cancer causing?

Bo& 3¢S 57535 $OR0T BB e DD ?
Options :

Herpes, AIDS and Ebola
18393618029, % 0N, AIDS SH00IM e

Rabies and Neonatal Rubella
18393618030, # TR O AT S HBELT

Human Papilloma Virus and Chronic Hepatitis B

18393618031, ¢ TS FPVS'Sr FER HOAN HFTOE OV B.

Chicken pox and warts
28393618032, % €€ DB (HeT7en

Question Number : 29 Question Id : 2839364509 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following
1508 a7e3Q 23¢b HBL0S

List-I (¢35 —1)
A. Sutton and Boveri 1.

&R B 230

B. Alfred Sturtevant i
s8S|& HPT0S

C. Hugo-de-Vries 1.
05 A-1DD

D. T.H.Morgan V.
3. 570 PP

Options :

18393618033, ¢ A-iii, B-i, C-ii, D-iv
8393618034, # A-ii, B-1, C-iii, D-iv
28393618035, % A-iil, B-ii, C-1, D-iv

28393618036, ¥ A=, B-iv, C-i, D-iii

Question Number : 30 Question Id : 2839364510 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

List-1T (¢35 — 11)
Chromosome map
IS ISP Do

Mutation
Ere5 85805

Chromosomal theory of inheritance
ISP © 95038 DT0S0

Linkage
PSP DTaRY )

Identify the wrong statements among the following.

A. Deletions and insertions of base pairs of DNA cause frame shift mutations

B. UV radiation cannot trigger frame shift mutation

C. The genes linked closely on the same chromosome have more chances of

recombination

D. Test cross ratio of a dihybrid Mendelian cross would be 1:1

1B0A €365 5385600065 752505 HO0H0A?

A. DNA 9 gore 23¢hen SO sHOAM TS SO I | D0-2)

&e530:58men DG dheEron

B. UV 8&eren [Da0-27 &red 1058570000 (b0t 8
C. 23 1Tz A0S e5ed) 2260830 0 : @HE Heds Hodires en

T RTeN T doW

D. 0SS & 50088 HE Hosd e 1:1



Options :
28393618037, * A, B& C

28393618038, ¢ B, C & D

28393618039, # A, C & D

28393618040, % A, B,C&D

Question Number : 31 Question Id : 2839364511 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following examples are best studied examples (plants / animals)

respectively for the genetic studies on Incomplete Dominance, Co-Dominance,

Independent Assortment and Linkage

208 e9ddsaDTreeT & D) /20 GIETrdne 00 @NOTS 23578 t0, D
27055 50, DLBOEh JTS DIT0H0 OGN JTeHyS HBoTEH? (S

Eoss)
Options :

Snapdragon, Lens culinaris, Pea, Drosophila
18393618041, ¢ AR ITAS, BI) $05OT0R, 2Eee, |FFDer

Drosophila, Snapdragon, Lens culinaris, pea
28393618042, % | BFDEF, D |TES, BR) $05OTER, 2°es

Snapdragon, pea, Lens culinaris, Drosophila
28393618043, % AR (@HS, DE°Ed, B HosdTER, |BFDer

Lens culinaris, Snapdragon, pea, Drosophila
28393618044, % B0 F0§OTBR, ;D (@S, wo°eS, (B Der

Question Number : 32 Question Id : 2839364512 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In a transcription unit the coding strand is
OBP (DS R DOV S
A. Found in DNA

DNAE’ 22008

B. Found in RNA
RNA ¢ 2322008

C. Codes for hnRNA
hnRNA %0 SOS0MmT D Teod

D. Does not code for anything
B8 HoBSomr HATADH

Which of the above statements are true
2 D IOS DDA D

Options :

28393618045, ¥ AC

28393618046, ¥ AB
28393618047, ¢ AD

28393618048, ¥ BD

Question Number : 33 Question Id : 2839364513 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DNA of ¢ X 174 bacteriophage has

@ X 174 2r§600ares DNA & 03
Options :

48502 Nucleotides
28393615040, % 48502 s BE)
5386 Nucleotides
18303618050, @ 380 STEETITE)
5386 Nitrogen base pairs

18303618051, % 386 A2 528 2dbew



48502 Nitrogen base pairs

18393618050, % 48502 A8 $6 asehen

Question Number : 34 Question Id : 2839364514 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The number of nitrogen base pairs in haploid human DNA and Escherichia coli

DNA respectively are
53759 DNA €5°2 DEDeEes 5y 0850 ¥ )8205r §) DNA S S(¢b23 5268

23¢50) DOPDS DT
Options :

4.6x 10°bpand 3.3 x 10” bp
28393618053, % 4.6 X 10° bp 830 3.3 x 10” bp

4.6 x 10" bpand 3.3 x 10° bp
58393618054, % 4.6 X 107 bp s08ak» 3.3 x 10° bp

3.3 x 10” bp and 4.6 x 10° bp
18393618055 ¢ 3-3 X 10”7 bp 8050 4.6 x 10° bp

3.3 x 10° bp and 4.6 x 10” bp

Question Number : 35 Question Id : 2839364515 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
During biochemical characterization of transforming principle by Avery, MacLeod

and McCarty, the biochemicals from heat killed S cells were purified and digested
with proteases, RNAase and DNAase. Digestion of DNA with DNAase enzymes

shows

@30, SrSairS, D50 2020 DOIGS Ird0o TNEL ZIGTONAE Q20
289 HBTSIOS BB TD 0D $-DFS0 2rEBahS e I T HILBHED
1%¢3GDHD en, RNAase 805w DNAase & 2805 T08. DNA & DNAase DoBEa
& 200D TSI



Options :
No effect of transformation
£8393618057. % DOSES aCS (DaFH0 WTrNB

Inhibition of transformation
28393618058, ¢ 03B ATOODAOH

Delays transformation
18393618059, % 000N BODF DBIDE0E

Promotes transformation
18393618060, % OGS (RODOTIDAOE

Question Number : 36 Question Id : 2839364516 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The first artificial rDNA was constructed by using a native plasmid of which of the

following organisms?

&1 1808 73S Q B TWE) F'AE TB X GHTTAOD k) FseEs EY B

S0 JoT3r2E DNA (r DNA) e9g06)edd $05rS T3°¢0?
Options :
Salmonella typhimurium
18393618061, ¢ TOIRY” BB
Escherichia coli
28393618062, % *3)0NAT EO

Agrobacterium tumifaciens
28393618063, * BIrE6AH0 EPIHDACHS)

Propionibacterium sharmani
28393618064, % DT §BA00 D8R

Question Number : 37 Question Id : 2839364517 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Agarose 1s a
TR @IS



Options :
Synthetic chemical from sea weed
28393618065, % a0(CS ens) D08 ©OT FYBed SODSO

Natural polymer from sea weed
18393618066, ¥ DV(E Fe0Y HO& ©OT D FONE

Synthetic chemical from Basidiomycetes fungi
18393618067, % BRATFRNEV 3D0|H0 O ©DOT EYeD FPOHS0

Natural polymer from Ascomycetes fungi
18393618068, ¥ BFrDVER 30030 0B ©OT HrE FONE

Question Number : 38 Question Id : 2839364518 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a rDNA cloning experiment, which of the following helps to identify and eliminate

non-transformant normal Escherichia coli cells

rDNA Q00 19380 1808 ¢3S DA D058 Tod DF)8aale §O Sererch

5800 SoRostioS aHTBrENS00
Options :

Origin of Replication (Ori)
28393618069, % (DBTYS &DT)H0

Selectable marker
28393618070, ¢ SO0 TADSH 76,6

Cloning site
28393618071, % S OR PO

Competent host
28393618072, % 3N eBTFaw

Question Number : 39 Question Id : 2839364519 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Biofortification 1s required to remove hidden hunger. Vegetables and fruits are
enriched with different minerals and vitamins by using plant breeding methods. Which

of the following IARI varieties are enriched with Iron and Calcium

D203 8O SofoSEIE TFIFODENS ©INB0. DB HASIOD
GHBrA0D Srdmraden HBCM Hereds PN HOASN DLWPD HD0DS)0
DTS, OMS TS’ DWEFODTAS T°50° DN BN 5QAHO HDONS)0

5208y IARI Ssren.
Options :

Spinach and Bathua
28393618073, ¢ IV HOOKN 22€80e

Carrot and pumpkin
28393618074, % SO 0OCKD e

Carrot and French bean
28393618075, % SO S8 (308 DS

Spinach and garden pea
28393618076, % RIS O E& TEY

Question Number : 40 Question Id : 2839364520 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The microbial biocontrol agent that can be introduced to control butterfly caterpillars is

0% Dende For® Mo AoHoBoSEE (Bod ¢3S 2 £5 daHo e
RIFSTR), (DaF 2T
Options :
Bacillus thuringiensis
28303618077, v & ORD BOOOBADIID

Trichoderma viridi
18393618078, % | RSB0 DOG

NPV (Nuclear Polyhedrosis Virus)
28393618079, % OT$ECHE O TPEVD JER (NPY)



CPV (Cytoplasmic Polyhedrosis Virus)
28393618080, % R '8 IO TE VD 3D (CPY)
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Question Number : 41 Question Id : 2839364521 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0

The extra food is stored in this form in eukaryotic, multicellular heterotrophs.

QesBo|BE aFosn HENLE e 8l eftoed) & ErHos® Jend THSotron.

Options :
Starch
28393618081, ¥ o&

Glucose
28393618082, # KpEler
Glycogen

As%eS
28393618083, ¥ <

Amino acids
oy
28303618084, % OB ©lpen

Question Number : 42 Question Id : 2839364522 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Statement I : Cryopreservation is one of the methods of insitu conservation.

Statement II : Red data books are published by the ICZN.
wod0 | 1 @888D85m «I3b S 5;?6 KoBger Derared® 288,
wodo Il : D& Eér Hfseerdn ICZN (5:58508.

The correct option among the following is
& 18060 D ITOS HBTDDISO
Options :
Both statements I and II are true
28393618085, % @O I, 181D

Both statements I and II are false
28393618086, v €070 1, 1985 52

Statement I is true. But statement II is false

Statement | is false. But statement II is correct
18393613083 % @00 17838 =°th. =70 wodo Il JJHH

Question Number : 43 Question Id : 2839364523 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Radial symmetry is an advantage to sessile animals.
Reason (R) : They live in water and respond equally to stimuli that arrive from

all directions.

8o (A) a@%vg %‘%éa’)o 5;:633% 2Hod (egroed 00 ENED &00 £H05)
aTeere ensnBreo.

s8mo (R) : & &en HBS® Dd5w, od) H¥e Hob 6’)3& (BeeEs odaron.

The correct option among the following is
& 1806 D IFTOS HBTDDIO
Options :



A and R are true, R is correct explanation for A

18393618089 A RBo&> Qezo, A 8 R 888 D8es

A and R are true, but R is not correct explanation for A

28393618090, ¥ .""'L.. R Gotir g0, 500 A g R;ﬁgff) LS8 =050

A 1s true. But R 1s false.

28393618091, ¥ A Reso. =8 R Dao s==.

A i1s false. But R is true.

28393618092, ¥ A Reso =°tHh. 5°R R Dao.

Question Number : 44 Question Id : 2839364524 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct statements
I. Intercalated discs are peculiar to skeletal muscles
II. Innervous tissue only ependymal cells develop from mesoderm
III. Neutrophils are commonly called microscopic police men
IV. Most of the cranial bones are dermal bones

8oh 30 egiaio 3B IBX wosrelh Mifodod

. @o&8b Hograhl 4 8%en © otlore Lﬁ}é@éé

II. o&%eere0e® D2oBHS Sren S(ehad g0 S0k @ila’}a% Jotharon
I11. ?63’”&@55&5&}53 RNoeg g6 BEE génen eotrd.

IV. Zareost @bH% grfo adnden éé&dﬁjﬂ"m@@
Options :
28393618093, # I, 11

28393618004, v 1L IV
28393618095, % L, I

28393618096, * 11, IV



Question Number : 45 Question Id : 2839364525 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following.

Larva Phylum
A. Parrenchymula [. Ctenopohora
B. Cydippid II. Annelida
C. Miracidium I11. Porifera
D. Trochophore IV. Echinodermata

V. Platyhelminthes
80b &R a8dBSol.

&ogigo a’zgo
A. FEo8sner [ 8o
B. 2838 . @30
C. oodBcho I11. Fe2oe
D. 5°5°%6 V. 535°%60)er

V. Z83r008%
Options :
12393618097 ® A-IILB-1V,C-V,D -1

18393618098, ¥ A-IV,B-1,C-V,D-II
28393618099, ® A -1, B-V,C-1, D-III

28393618100 ¢ A-IILB-L,C-V,D-1I

Question Number : 46 Question Id : 2839364526 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The functions of enteronephric nephridia of Pheretima.
268 &5 ©o[BEX)570 Agven
Options :
Osmoregulation and excretion

28393618101, v ST HNER (B8, DIGS



Excretion and digestion

28303618100, % DRES, SEE

Digestion and respiration

28303618103, % SBEA, TFIB

Osmoregulation and digestion

18303618104, % BTDIE (EHS, 2EED

Question Number : 47 Question Id : 2839364527 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
Jaw less fish like vertebrates are.

e 80 Do Hod JH53scen
Options :

Tunicates

28393618105, ¥ SR

28393618106. #

Cyclostomes

28303618107, v DET0e

Apods

28393618108, % Ve Ben

Question Number : 48 Question Id : 2839364528 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Statement I : In frog, buccopharyngeal cavity acts as a force pump during
pulmonary respiration.

Statement II: Vocal sacs and amplexy pads are formed in female frogs during

breeding season.
wodo [: é;’}uj@ﬁ 2D ﬁﬁ@dﬁ)@a @55@%5 &0 2.8 ol DodHerme SVTH06.
wodo II: g8 sreos® e Ened® $os8), Hden, Hy88 aren DBEaro.

The correct option among the following is
& 1806 DD TOS HBTIO
Options :
Both statements I and II are true
28393618109, % ©OTe I, 183

Both statements I and II are false

28393618110, % @OT L, IIIJRD =2

Statement | is true. But statement 11 is false
18393618111, v 2080 18BX6. =20 wodo 1l BIH 50t

Statement I 1s false. But statement 11 is correct
18393618112, % €030 1XBJH s°th. 57 wodo Il JJJH

Question Number : 49 Question Id : 2839364529 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among vertebrates, renal portal system 1s absent in

$ETSred® 88y VOIS g8 §°00Dd €

Options :
Myxine, Macropus, Felis

B = =
28393618113, ¥ DE)S, ESE, POS

Columba, Hemidactylus, Panthera

Sooar, R30S, Jrobor
28393618114, # £



Pteropus, Elephas, Labeo

18393618115, % BOS, OIS, S

Scoliodon, Rana, Antelopa

28393618116, % D2OTPED, 0%, SodestDe

Question Number : 50 Question Id : 2839364530 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following:
List-1 List - 2
A. Parasitic castration I. Larvae of Fasciola
B. Neoplasia II. Taenia
C. Gigantism III. Plasmodium
D. Hypertrophy IV. Some viruses

V. Sacculina
806 @) a8 Sod.

5D -1 DD -2
A. SoeddS Sﬂ@a‘iﬁ I. Jedctrer Eodiscen
B. D&rardasr II. doate
C. w&seahds III. Z¥dabo
D. 2755558 IV. 88 38%en
V. Sesydoe

Options :
28393618117, ¥ A-ILB-1IV,C-LD-V

13393618118, % A-IMILB-LC-1V,D-V
3393618119 ¢ A-V,B-1IV,C-1,D-1II

28393618120 % A-V,B-1IV,C-1,D-1I

Question Number : 51 Question Id : 2839364531 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the mismatched pair

RO eT0 G0l @i Hiotod
Options :
Wuchereria - Histozoic parasite

18303618]2]. % ©E00aAte - Bmepeo STUHBD

Plasmodium - Intercellular parasite

28393618192, ¥ FohSabo - Berodd SR

Hyperparasite - Nosema

28393618123, % PEITRED - FWapr

Coelozoic parasite - Ascaris

28303618124, % D8 BTHAD - &JY05

Question Number : 52 Question Id : 2839364532 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following are stages of Plasmodium in female Anopheles. Their correct

sequence is

[) Syngamy IT) Sporocyst I1T) Formation of Ookinete
V) Gametogony V) Oocyst

ol drded 88 Fdbdabo S 8ol VERaman. B TS $BD Eo

I) Souihog Soderio 1) ¢S dessHo I11) 55550% mgém D)0
IV) de8&88)8 V) $ocing Hess®o
Options :

28393618125, # IV-1-1II-11-V
28393618126, # 11 -V -1l -1V -1
28393618127. # IV -V -1 -1l - 11

28393618128. ¢ IV -1 -111 - V - 11



Question Number : 53 Question Id : 2839364533 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Euphoria and increased energy are due to
Qe 98, €5 1rbdied sedmo

Options :

Cocaine

28393618129. ¢ gﬂES

Heroin
28393618130, ¥ oPTOLR

Morphine
28393618131, % QS

Smack

28303618132, % V2°

Question Number : 54 Question Id : 2839364534 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Limiting nutrient for both natural and agricultural ecosystems is

A2, 950D e358E S DB HFh¥0o
Options :
Nitrogen

28393618133, ¢ ™l

Carbon
28393618134, % 50300

Phosphorus

28393618135, ¥ &S00

Oxygen
28393618136, ¥ WA

Question Number : 55 Question Id : 2839364535 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Statement I : The animals that can withstand wide fluctuations in salinity are called
eurythermal animals.
Statement II : Animals such as camels can be conformers upto a particular range
of temperature and regulators afterwards.
wodo [ : Spe oS oS Srtno athEYs KON sodHo drddsS

230850880 @0lTeiD.

wodo Il | 2.08 orod sodishen a8 %gcm HBE ﬁ%@i@v eo ol seenr,
Sthard DdholdsteuT &otro.

The correct option among the following is

%1808 9D J5OS HOTHIE
Options :

Both statements I and Il are true

28303618137, % ©@0T I, 1883
Both statements | and 11 are false
28393618138, % @oTen L, IPI) =25
Statement | is true. But statement 11 is false
18393618139, % ©0T0 1 JJHB. 577 wodo 1l JJHE s°eh
Statement 1 1s false. But statement 11 1s correct

28393618140, ¥ wodo | HBH6 seth. 500 wodo Il $BHs

Question Number : 56 Question Id : 2839364536 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a lake ecosystem, Dytiscus comes under

25y darstes E&é&ﬁ%@ﬁ BEI0 & 555% Bothhod

Options :
Nekton
28393618141, ¥ 5535
Neuston

28393618142, % THES



Periphyton

28303618143, % DOPEPS

Plankton

i
28393618144, % RSO
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The temperature of water in epilimnion of a thermally stratified lake in summer in

temperate regions 18

$5088°%g Erodod® THDE® (0KGem JobS $Ey) GwE) IHDAERSS™ I8 e P
Options :

28393618145, v 21°C - 25°C

28393618146, % 4°C -5°C

28393618147, % 4°C -21°C

28393618148, % 39°C -45°C

Question Number : 58 Question Id : 2839364538 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify A and B in the following equation

Casein CL“H’} Calcium paracaseinate _B Peptones
a

|Bol BaraDH ﬁt‘.ﬁgﬁﬁ A, B o oo,

RS A SOHHo Forhaes — B, =885
CH'H' o 5]

Options :
A. Renin B. Chymotrypsin
28393618149, % A. DI B. 33¢32)S



A. Rennin B. Trypsin

28393618150, % A~ OYS B. &8s
A. Ptyalin B. Pepsin

28393618151, % A ©ODOS B. 233
A. Rennin B. Pepsin

28393618152, v A ORYS B. 200
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Glisson's capsule is a part of

ATy K8 B T grKo
Options :
Pancreas

28393618153, % go

Liver
28393618154, ¢ SPBCHO

Stomach
28393618155, % Sopdabo
Duodenum
28393618156, *# SOEHre0
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The volume of air remaining in the lungs even after forcible expiration is

poHod TN wdosto MHB8HeE® MHAD Ho& M HBDHBIFLO
Options :

Residual volume
28393618157, ¥ ©HVR F0SH0res0



Tidal volume
28303618158, % SEO T

Functional residual capacity
28393618159. # @m}eééé @é%ﬁ ﬁ“é}gﬁo
Total lung capacity

P8 DR Pogso
28393618160. * FE DD &
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The small blood vessels present in the walls of large blood vessels like aortic
arches are called

SFHDY erod DY SETrEre Fgos® a3 9%) S5
Options :

Coronary vessels
28303618161, % S g0 VO
Vasa vasorum
28393618162, ¢ TP TR0

Chyliferous ducts
= | =
28393618163, % SO PR TFELD

Lymph ducts
28393618164, % STRED Togren
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Pore in the foetal heart of human beings is

PSS DoKSEE® 10865 oo
Options :
Foramen Manro

28393618165, % H(§* Solgo



Foramen QOvale

28393618166, ¥ P°O°DE &DS

Foramen Magnum

28393618167, ¥ 0¥ DRG0

Fossa Ovalis

E.
18393618168, % & 23O
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Assertion (A): The glomerular filtrate is progressively diluted as it moves up in
the ascending limb of loop of Henle.

Reason (R) : Ascending limb of loop of Henle is impermeable to water and
permeable for the reabsorption of Na* and CI-.

D8yo (A) : md (o Irad B a8 oof¥ oo 28 (HDsroBespd
Toe) redied éﬁﬂaéjoﬂ;.

see0 (R) : 359 85D w8%8r 08 HB8 SronEgs Srdeh. s Naw, Cl
5%:885e0 Sodoarom.

The correct option among the following is
&2 (B0 D050 DOTDIE
Options :
A and R are true, R is correct explanation for A
28393618169 v s RBo&> Jezo, A & RJITS D58ee

A and R are true, but R is not correct explanation for A
12393618170, % A RBo&r Jeso, 500 A 8 R {888 D58ee s°eh

A 1s true. But R is false.
28393618171, ¥ A Reso. 520 R Dao s,

A is false. But R is true.
28393618172, ¥ A Reso =eth. 5°R) R Jeso.
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Regulatory proteins of a myofibril are

Lol Hrg J80%NEE) Daboen (@O
Options :

Actin and myosin

- 1= P
28303618173, % PEV ARSI

Actin and troponin
28393618174, % V80, RIS
Myosin and tropomyosin
28393618175, % DATNS, (P PELEERS

Troponin and tropomyosin
28393618176, ¢ (SIS, (EFFHITRS
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Number of vertebrae that form the sacrum

BEod DT 3%re Sosy
Options :
28393618177. ¢ 5

28393618178, # 12
28393618179. # 7

28393618180. % 1
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Limbic system 1s involved in the regulation of
DodE B0 BN VaHo(@:ed

Options :



Breathing movements
28393618181, ¥ T30 S0O8e0

Sexual behaviour
28393618182, ¢ SONS [@DFD

Involuntary activities

28393618183, # REEO0 R iﬁﬂﬁéﬁ}]

Auditory functions
28393618184, * (Bee D&oen
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Terminal ends of post gangalionic fibres of parasympathetic neural system at

effector organ produce
JIPOErS h BEY G TE Kob B8 Fo@sTre Dol eHEr worre HY
Sd:cﬁetfoé bSlnilele)
]
Options :
Adrenalin
28393618185, % VETOS

Epinephrine
28393618186, % POBPO

Sympathin
28393618187, ¥ RODBS

Acetyl choline

B,
28393618188, ¥ VRES 5O
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Catecholamines are secreted by

BFoDIOD (HHo38



Options :
Thymus gland
28393618189, % @°© (1oB

Pineal gland
28393618190, % VNS (Ko

Adrenal gland

28393618101, v LEPT 08

Parathyroid gland
28393618192, # O°@oronE (Hfod
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Statement I : Payer's patches of small intestine are secondary lymphoid organs
in which mature lymphocytes become functional cells.
Statement II : Antigen - antibody complexes are removed by neutrophils and
Iymphocytes from the blood.

eodo [ : a:sﬁ;mesﬁm 050y esdBHSen &rﬂ%@dﬁj DozronG e®Hdharen.
HOS® 586ad Tobd Doy BETEE Swreor Srdaron.
wodo II : Smesthfen, Dogfpen S50 (58 eds - (58 555
Sogspesh &ohdon.
The correct option among the following is
& 1808 9D IFOS HOTIA
Options :
Both statements [ and II are true
28393618193, % @oTe I, 1383

Both statements | and Il are false
28393618104, % @O I, I1 588D 57

Statement | is true. But statement 11 is false



Statement | is false. But statement Il is correct
13393618196, % ©0F0 [ 8BIB s°th. =2 wodo Il JJIH
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Match the following.

List -1 List — 11
A. Gastrin 1. Bicarbonates
B. Secretin I1. Disaccharidases
C. Cholecystokinin I11. Saliva
D. Enterocrinin [V. HCI

V. Gall bladder
1Bod TEHI eddddol.

S5 -1 N -2
A, rin@ﬁ 8 uﬁ_s@fﬁgﬁéﬁm
B. 2885 . BrEBES e
C. &*8205808 [11. ercerzeoc
er—
D. @Dﬁﬁegﬁlﬁ IV. HCI
V. E:.Eggra’ctim

Options :
23393618197, ¥ A-IV,B-L C-1II,D-11

28393618198 ¢ A-IV,B-1,C-V,D-1I
28393618199, ® A-ILB-V,C-1,D-1V

128393618200 % A-IILB-LC-1IV,D-V
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Assertion (A): In human beings testes lie in scrotum.

Reason (R) : To maintain high temperature more than normal body temperature.
Q8180 (A) : $r5HNS° Swamen S Ads® 2808 éotrow.
s3es0 (R) : $68 ﬁ%ﬁé S0& ﬁ%ﬁé DEYH soSeeRS.

The correct option among the following is
& 1B0B D FeS HBTDIO
Options :
A and R are true, R is correct explanation for A

18393618201, % A, RBo&r Do, A 8 RGBS DHBes

A and R are true, but R is not correct explanation for A
18393613202, % A, RTofr Qego, 570 A 8 RJBR 88 s°eh

A 1s true. But R is false.
28393618203, ¥ A Na3o. 500 R Qao seéh.

A 1s false. But R 1s true.
28393618204, ¥ A Qeso =eth. =2 R deso.

Question Number : 72 Question Id : 2839364552 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The secretion of these glands washes out the acidic urinary residues that remain
in urethra
et g, o

& (oo [Frdo (HoBos® Surg@o Sy EONS efeed) 5000
Options :

Prostate gland
28393618205, % DR (10§

Cowper's glands
28393618206, ¥ S 20 (logoen

Bartholin glands
28393618207, % CPEOS (fooen



Skene glands

&
18393618208, % 3~ ((fogben
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Progestasert is
PR RE o
Options :
Copper releasing intra uterine device

=
28303618200, * TR Do TS Hogdatrodt o

Hormone releasing intra uterine device

==
28393618210, v OO DdiSo T HogEdirody Areso

Oral contraceptive pill

28393618211, # ﬁéﬂ] WL 6 S

Contraceptive injection

1230361810 % 1) NE°GE Srd ot
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[f the blood group of father is A (homozygous) and that of mother is AB, these

blood groups are not expected in their children

$olf 88 $¥o A (Scioreo), $§ &8 $¥o AB ©ond 0 bped® & 68
Soren BoED.

Options :

28393618213, % A, AB

28393618214, % B, AB
28393618215, ¥ O, AB

28393618216, ¢ B, O
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The Drosophila with the Karyotype AAA+XX 1s

AAA+XX 50 @e85 So (SFper
Options :

Intersex
28393618217, ¢ D000l £D

Female
28393618218. # @ £
Metafemale
28393618219. ¥ oo IEJ" £
Metamale
28393618220, % ©OF HOR £D
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Chromosome with the fewest genes in human beings is
S5 HIE’ 08 SENS esdogiyen EOADY B85 3oees®0
Options :

X - chromosome
28393618221, % X - (E°@RPSw

Y - chromosome
18393618222, ¢ Y - (B BrR850

Chromosome - 1
28393618223, % (E°QeRFEw - 1

Chromosome - 21
18393618224, % (S RPRES® - 21
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Study the following and pick up the correct statements
. Cvanognathus is a transitional form between reptiles and mammals
II. Prototherians are connecting links between birds and mammals
III. Wing of bird and wing of butterfly are homologous organs
IV. Biogenetic law states that ontogeny repeats phylogeny

Sob OV vFgehdo 32 ¥ woedH HBoSod
| ;.:’a‘iaﬁfngq‘ﬁﬁ ‘ééé&&ﬁé:, é&mﬂﬂéa Sogrgods Srso
[I. %o, §8ored D&y S8 DhHen BFEBHY
[, $§ 3%, d&°5"s Dens BY) Jogs vy OBAHTPeD
V. 28 €9 €28 388 & £9 5 I8 SPE$D H¥orsSo Dod o
£ exdyy vpodo BOHEROB

Options :
28393618225, % 11, 111

28393618226, ¢ 1s IV
28393618227 % L, 11

28393618228, % 1L, 1V
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The change in the frequency of a gene that occurs merely by chance and not by

selection in small population is called

0%y awrerd® $8wo Ho seHowe Girg)iSorr ey Pedgos® Kt
Options :
Founder's effect

o ot
28393618229, % B8 dHo Berso

Genetic load
18393618230, % 05 &°00



Gene flow
28393618231, % S0 B0
Sewall Wright effect
18393618232, ¥ WS B (Herdo
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Vaccine for influenza 1s

B8SHDoz Ews) Se
Options :
Inactivated whole agent vaccine
28303618233, v DRI BoIPE (@8RG S
Attenuated whole agent vaccine
25303615234, % TS0 SEES §BoDS Sodrg (FBN S

Toxoid
28393618235, % EFSNONE

Recombinant vector vaccines
28393618236, % 952 Dodral Tvses Ssven
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In an ECGQ, shortened P-R interval indicates

ECG &° P-R o080 S5 eoitso B HrDi00.
Options :
Bradycardia
r303618037, % EESRA
Hypercalcemia

28393618238, % e SGsd) ol



Tachycardia
25303618030, v TESQA®
Hypokalemia
28393618240, % LR SODA®
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283936103
3

Online
Mandatory
40

40

40

Yes

0

1
283936103
Yes

null

The physical quantity pair with the same dimensions is

2.8 duédoen e e edordhe 26
Options :
angular momentum and work
28393618241, % S SO (£35S M9a300 BT DA

work and torque
28393618242, v DN DO €30y

potential energy and linear momentum

28393618243, % VDI 5800 BHAD (935350

kinetic energy and angular momentum

18393618244, % (1992338 B0 FedahH (S5 Him
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[f the error in the measurement of the radius of a sphere i1s 1%, then the error in

the measurement of its volume 1s

2.8 A8 GB0E) asard0 FersseS” Eassm 1 % 000 7 SoeSH88Te00

TS Sasn
Options :

28393618245, % 1%

- %
28393618246, ¥ 3

)
28393618247, ¢ 370

28393618248 % 9%
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A player kicks a football at a speed of 20 ms™' so that its range is maximum.

Another player at a distance of 24 m in the direction of kick starts running at that
instant to catch the ball before the ball hits the ground. To catch it, the minimum
speed with which the second player has to run 1s

(g=10ms?)

8 s 8 208 20 ms! JKoE T aria) KON LIEDT 05) S0
20008, 0B S8 OIS 24 m Sr&SNS &Sy HOTINE estarredd ©n
% £2065" 208 HEPTIETIE HORSHO 20000, WoNS 20 ZFadd TS
DEPEITRE BOthss esearrehd HOAS S0 EDH S&

(g =10 ms?)
Options :

|
28393618249, % 4 ms



-]
28393618250, ¢ 42 ms

|
28393618251, * 8+/2 ms

i |
28393618252, % SmS
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A body 1s projected with a velocity u at two different angles of projection such

that range is same in both the cases. Sum of the maximum vertical heights

attained by the body in the two cases is equal to

28 SN u JHANS Totkh J0SHD (D8 neE (D8 NoTRISYD, Bok
HOEIXNOS’ PR T5R) DATEN. & Bo HoKG NS & 50 TS
188 e Jnedo

Options :

28393618253, % U'E

-

u

28393618254, ¥ 28

4

u

28393618255, % 48

28393618256, ¥ &
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A horizontal force F pushes a 4 kg block A which pushes a 2 kg block B as shown
in the figure. The blocks have an acceleration of 3 ms~ to the right. There is no
friction between the blocks and the surfaces on which they slide. The net force
exerted by the block B on the block A is

F &R § 323 0s550658 250 4 kg (89:5:0°7 e A 900 O30 TEPTnd) 6. &a
O3 2 kg 1553073 He> S0TE Bz B D D350’ 5068 DS TEPT0S)B.
& OR20Z BoAIIY™ EOAS 55550 3 M2 ORI DSETR, OIOZ

§ Ba3evernd S0 Sodoaeren B, O A 2 O B 1533 rAoh
BALTOIATIIW

4kg

2 kg

Options :
6 N to the right
28393618257, % 6 N 0633

12 N to the right
28393618258, # 12N g\)dé&f}:

6 N to the left
28393618259, ¢ 6 N 203

12 N to the left
28393618260, % 12 N DCG0S Y
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The work done when water of mass 20 kg is lifted from a well of depth 50 m

using a rope of linear density 0.2 kg m™, is
50 m S'éotier 2rD00& 20 kg (555073 e 3, 2.8 Dy 0.2 kg (8955073
e TS SDSD I 20AS H



Options :
28393618261, % 15250

28393618262, % 12520

28393618263, ¢ 12250 ]

28393618264, % 15520
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A bullet of mass 5 g is fired horizontally with a velocity of 600 ms™ into a block

of wood of mass 2 kg suspended from a string of length 2 m. If the bullet
penetrates through the block of wood and comes out with a velocity of 200 ms™',
the vertical height through which the block of wood rises 1s

(g=10ms?).

1355073 5 g o) 2.8 20BE o §Ba ddrossSorr 600 ms! JHsne 2 m &S
Ko @D |Serdd HoHAS 2 kg (555073 K> 2.8 TE) H1S V8 52 yar k. e
208 & OIS STHIFD 200 ms™! K0S 25rPSnonEE, &3 TE), O DEST
SLY

(g =10 ms?)
Options :

28393618265, % 2.5 cm
28393618266, ¢ 2 €M
28393618267, % 2 €M

28393618268, ¥ 4 cm
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Three 1dentical spheres A, B and C each of mass M and radius R are placed along
a straight line such that, adjacent spheres touch each other. The position of the

center of mass of the system of 3 spheres from the center of the sphere A is

25,8583 M (8555073 0805 R argardo He Sured Aemen A, B odaso C,
108}, (0825 &) Fgren, 25008 HTEES &3S0 2.8 D&% B
GO0, P A TB0E) SO0 DO S0rehd Fiemed S5ed TBE)

18555503 Bo| & &80
Options :
ﬁ

28393618269, ¥ 3

28393618270, ¢ 2R

SR
28393618271, % 3

4R
28393618272, % 3
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The potential energy of a simple harmonic oscillator of mass 2 kg at its mean

position is 5 J. If its total energy is 9 J and its amplitude is 0.01 m, then its time

period in seconds is

2 kg (8555073 EORD DEEI T 58 FerEsn TRE), 7r9sE APdaan 5 23 ¥8
5] o) 030 489 J SH8050 E0035308a0e8 0.01 m @ond 7 e83:58 sPerdn

Do
Options :
T

28393618273, ¢ 100

T

28393618274. ¥ 50



28393618275, % 20

28393618276, ¥ 10
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The mass of a circular ring i1s 2ZM and its diameter 1s R. Moment of inertia of the

ring about an axis passing through its center and perpendicular to its plane 1s

2M (8555073, R 75000 ey 2.8 S9&°5°8 $0¥e00 GHE), S0 od &y

508200 88 020 e @8 a0 HSOM 23¢hed § |2Ta0E 0
Options :

MR *
28393618277 % 4

28393618278. ¢ 2

-

28393618279, ¥ 2

IMR*
28393618280, ¥ 4
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The time period of revolution of a satellite revolving around a planet is T. If the kinetic
-1

energy of the satellite is proportional T* | thenn =

&8 (ffF0 o BEN a8 a0 G SBgihes @58S sroo T. 5o Gng) Bedg
-1
Tr & ekdSmdardod® sof, n=

Options :



28393618281, ¥ 2

28393618282, ¥ 3

3
28393618283, ¢ 2

2
28393618284, ¥ 3
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The ratio of the lengths of two wires of same material and same volume is 1:4. If the

force required to increase the length of the shorter wire by 2 mm is F, the force required

to increase the length of longer wire by 2 mm is

2.8 émﬂgog‘; DohHad a8 HSH8STmo Ko Doth de SrEdHe 058 1:4. e a5

relanS 2 mm 200HeD HedS oo F eond Seehih 81 Sredand 2 mm

20H6% sy aoo
Options :
28393618285, ¥ F

28393618286. ¥ 16F
F

28393618287. ¢ 16

28393618288, ¥ 8F
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Two copper spheres of masses M and 8M are falling through a column of glycerine.
If the terminal velocity of the sphere of mass 8M is V, then the terminal velocity of

the sphere of mass M is

al ANbe Rozo T M S58din 8M  [Bssordhen e ot ooh FPgeen DY D. (Bagoed

8M He A¥o GooB) 560 30 V eond (855028 M e Rf¥o g S0 3o
Options :
28393618289. ¥ 2V

V
28393618290. ¢ 4

28393618291, ¥ 4V

V
28393618292, ¥ 2
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The work done in increasing the size of a soap film from 10 cm x 10 cm to

15 cm x 15 cm is 750 pJ. The surface tension of the soap film is

2.8 e £°6 siBarerd)y 10 cm x 10 cm Sod 15 cm x 15 cm £ o o L

750 W. Seny 26 Ging) Sedys

Options :
28393618293, ¢ 30x10~ Nm!

28393618294, ¥ 3x10° Nm'!

28393618295, % 20x10* Nm'

28393618296. ¥ 20x10-* Nm"!
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The heat energy required to convert 10 g of ice at 0 °C to water at 20 °C 1s

(Latent heat of fusion of ice = 80 cal g'l,
specific heat capacity of water = 1 cal g‘1 i ‘l,

mechanical equivalent of heat =4.2 ] ca]‘l}

0°C 38 Ko 10 g o 20 °C 5 Ko Ao Srphd sHobs ehds
(ot (E5DesS HoRBGo = 80 cal g, DB DAY 5o =1 cal g1 °C,

ﬁg Ao @8 &ersoso = 4.2 J cal')
Options :
28393618297, « 4200 ]

28393618298, ¥ 2100 ]
28393618299, ¥ 8400 J

28393618300. ¥ 1000 ]
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A gas 1s heated until both its volume and pressure are doubled. If its initial temperature

1s 300 K then its final temperature is

28 AN 0 T30E) OSHBIFE0 DOCH DEBS0 BE3oD) odhs SB% SSToD
DAIO. 8 ANy By O &N 300 K @ondS & ording BuE) b

el (e
Options :
28393618301, ¥ 373 K

28393618302, ¥ 600 K
28393618303. ¥ 900 K

28393618304, ¢ 1200 K
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When some amount of heat energy is given to a diatomic gas, the increase in its

internal energy is 100 J. If the same amount of heat energy is given to a monatomic

gas, the increase in its internal energy is
a8 8rpbdirend TPAmHIL ol ﬁ%é_&ﬁ oS ol @osdE 38 &0 2BiHse
100 J. &8 D% S85re08 Sranddd of HdErmo Ko 65880 andys, el

@oéﬁgéa’_% &0 %ivde
Options :
28393618305, ¥ 56 ]

28393618306, ¥ 140 ]
28393618307. ¥ 100 ]

28393618308, ¢ 84 J
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An 1deal gas (y = 1.5) expands adiabatically such that its volume increases by

1500 %. If the initial rms speed of the gas molecules is v, then the final rms speed

of the gas molecules is
a8 888 TdH (y = 1.5) FE°LE BEHS® o F5bErmo 1500 % DA diorr

:Pégsﬁoﬁé:;. TPA5n wende 80 rms SE v ©ond TP wmde &6 rms S5
Options :
28393618309. # Vv

28393618310, % 2V
1’!
28393618311, ¢ 2



¥V
28393618312. ¥ 3
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A block of mass 15 kg 1s hung by a wire of length 1m in a lift moving up with an

acceleration of 2 ms~. If the speed of the transverse wave at the lower end of the string
1s 150 ms™', the mass of the wire 1s

(g =10 ms~?)

2 ms? $5e08° 28 Shenhd) a8 DFE° 15 kg (BEoed Ko 2.8 o3 | m KD Ko

o8 Brooe (Berd HFG. 8K 18od T 3 855 oo g H& 150 ms! wowd &K
(Sa550°8

(g =10 ms?)
Options :

28393618313, % 4 &
28393618314, ¢ S &
28393618315, % 12 8

28393618316, % 16 8
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When a tuning fork is vibrated together with the air column of a resonance tube,
4 beats are heard per second when the temperature of the air column is 324 K or

289 K. The frequency of vibration of the air column at temperature 324 K is

28 $BBoE) 28 edHaed Ao G0 md goajoég 280 B080DTR0I0eD,
g éoﬁb’o é@;@ﬁé 324 K 8o 280 K a’;cﬁm SHIPED 2.8 DEDHE 4 DdyodSaren

AmB@a. 324 K ﬁ&&‘ﬁé a‘;cﬁm nvé‘_)goe&jo E0dS éﬂésf.@;ég)o
Options :
28393618317. ¥ 136 Hz

28393618318. ¥ 140 Hz
28393618319, ¢ 144 Hz

28393618320, ¥ 148 Hz
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The image formed by the objective of a compound microscope is

2.8 DoaNE A8 10500 G3nE) 258 S50 G 8T (Heddoan
Options :

real, inverted and magnified
18393618321, ¢ 02, Se|8ochen HOAWN e85P50 TOHSE

real, erect and magnified
78393618322, % &, AQENY DOAIN B8IFIA0 TOAIE

virtual, erect and magnified

28393618323, % S0ET, DHARE0Y) B0 e8P0 TOBIE

virtual, erect and diminished
28393618324, ¥ oNES, ALY DB D) O
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In Young’s double slit experiment, the ratio of maximum to minimum intensities of

the fringes 1s 4:1. The amplitudes of coherent sources are in the ratio
0%0h 85D |HTrHoeS HEe> HOQ, EAN S|Sesed> DA 4:1 NS Hoddd

255" 0D HBWH® DD IS
Options :

28393618325, % 4:1
28393618326, % 2:1
28393618327, ¢ 3:1

28393618328, % 16:1
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A rod with linear charge density ‘A’ is bent in the shape of a circular ring. The electric
potential at the centre of the circular ring is
D¥BS BHAH STFro(S5 A’ £ 2.8 B S9estS Eodeom S0 5. & $0¥e To(hesw
3 DB FRQPOHS
Options :

A

28393618329, ¥ 4€p

2h

28393618330. ¥ €0

28393618331, * €0

28393618332, ¥ 2€0
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Two concentric circular loops of radius ‘r” each are kept perpendicular to each other having

‘1" current flowing through them. The resultant magnetic moment is
282,883 ‘1’ F5RrQ0 fe) Bock D S0l SHHEES i’ DS (Do ek, DS

2,500FTEES ©0200M™ GO, DO oHar) 0 |2ego
Options :

i
28393618333, ¢ IV 2

.2 [~
28393618334, % Ir“V2

28393618335, # “'\E

2
28393618336, ¥ MT \E
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An electric charge (q) moves along a metal tube with a variable cross-section as shown in

the figure. It’s velocity at the wider position A is V.. Then the velocity of the charge when
it approaches the neck of tube (position B) is

28 DAVITII0 (q) e oS ITosn S0 af Sy FYo & |Hasrdod
200918, € 0 JEeN T S 00 A S5O &8 &3390 J5edn Vo, @and &8 5330 a3ns),
S0 o FLO DT €55 a0 B 56

o

e
B IEQH. q

T A

\

greater than V,
28393618337, ¢ Vo 30T %05

Options :

equal to V,
28393618338, ¥ Vo 50 fedI"a)edd



less than V.,
28393618339, % Vo SOT 8058

less than or equal to V,
28393618340 % Vo 80 Qadradsdn B ¢80
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A nicrome wire has a resistance 80 Q at a temperature of 30 °C. If it is heated to

1030 °C then the resistance of wire is

(Temperature coefficient of resistance of nicrome, o = 1.7x 107/ )

2.8 BIES 8% 30 °C sl 3G 80 Q & DED L8 o, D, 1030 °C & 3&
D%, T ABSo

BIES By IFTBE e ¥e Hedo, o = 17x10™/°C)
Options :
28393618341, v 93.6

28393618342, % 06.4 Q
28393618343, % 187.2Q

28393618344, % 126.6
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Two wires of same material and same length 20 cm are wound in the form of two coils A
and B. The coil A has 4 turns and the coil B has 2 turns. If same current is sent into the

two coils, the ratio of magnetic induction at the centres of the two coils A and B i3

2,8 P¢59 20 cm E68, 2.8 Hrdan & DAH&S Dok Biedd Do SyEsed e toé)en
A 58050 B 60550 TAH2GSD. A He)E 4 toew, B heyeS 2 t9ew dar) on. Dok e
LR 2.8 DS (DT0 GO A SHBA B Bo|rer S5 es0Har)06 3 1@ DS

Options :



28393618345, v 41
28393618346, % 1:4
28393618347, % 2:1

28393618348, % 1:2
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A toroid has 100 turns and radius 10 cm. If it carries 1 A current then the magnetic field
inside the toroid is

(Permeability of free space =4x <10 Hm™)

2.8 Sorond 100 & SO 10 cm arsardsn 08 @od. TS 1A DS
D327 o, TS DO @S]0 B (&5 (356

($r:85065 280HDOB =41 x 10 Hm )
Options :
28393618349, % 4X107 T

4
28393618350, v 2x107 T

4
28393618351, % 1x107 T

4
28393618352, % 3X107 T
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A square loop of side 22 cm 1s changed to a circle in time 0.4 s with its plane normal to

a magnetic field 0.2 T. The magnitude of induced emf is
22 cm 2923550 & 2.8 S S R Se0R0 0.4 5 SOXNS JYBSEI0 T SrOIA.
PR 530850 @020 0.2 T @oHA)0653 (550 DA TONNN), D0 Dsd

Y08 20 2870
Options :



28393618353, % 3.3 MV
28393618354, v 0-6 MV
28393618355, % 2.9 mV

28393618356, % 13.2mV
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In the given network, if the charges on the capacitors in steady state are same, then (%) 1S
2

B0 2D D3E $e0H0ES ¥ PBS TS D eBIS0eN HITrSFS, (g—l)
NIV
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Options :
28393618357, ¢ i3

28393618358, % 319
28393618359, % 1:1

28393618360 % 1:3
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Consider a small cube of side 1 mm at the centre of a circular loop of diameter 20

cm carrying a current of 2 A. The magnetic energy stored inside the cube is

20 cm 57250 08 2 A DS |00 e .8 S5)E s oD 30|50 S5O 1 mm 2he2o
Ko 2.8 D) ) DOKBS0H0A. € Do’ ey s ot e90hHar), 08 58

Options :
28393618361, ¥ Tx 104

28393618362, ¢ 2w x 10714 ]
28393618363, * 8 x1071%]

28393618364, * 2w x107"" ]
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A series LCR circuit with inductance 20 mH, capacitance 50 uF and resistance 25 Q

is connected to a variable frequency supply of 220 V. The frequency of the source at

which resonance occurs is

20 mH 3865 £0, 50 UF Braedd) SH0csw 25 Q ABBoed &) LCR (33
SO0 WS 350 €red) 220 V DEHT8 EDar. 290055700 Do0T 8058
CNERG INTTO BT IVIN]

Options :
28393618365. ¥ 1000 Hz

28393618366. * 159 Hz

28393618367. # 39 Hz

28393618368. ¥ 50 Hz
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Arrange the following electromagnetic waves in the order of increasing frequency
&: 1808 DEVIBOD, 0 SBOMeD a¢3 s Y950 MDD, (Zvo &

QT YNTOHoS

A. Microwaves

D15° bSorren

B. Infrared waves
DT SSomren

C. Ultraviolet rays

weadereS ore §8emen
D. X-rays

X-8&ezren
Options :

28393618369, ¢ A, B, C, D
28393618370, # D, C, B, A
28393618371, * B, C, A, D

28393618372. * D, A, C, B
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When light radiation of frequency 6.97 x 10! Hz is incident on a metal surface, then
the electrons are ejected from the surface with a maximum speed of 6.6 x 10° ms'1.
The threshold frequency of the metal surface is
(take h = 6.6 x 103 Js; mass of electron =9 x 1031 kg)

6.97 x 1014 Hz 25200950 e 52083 DBB0 2.8 6T &HBSHO0 B0 De5S0eI5Y )%,
e 5030 2 oG 6.6 X 107 ms! A8 SAS Do Faen 2aHe % Jewsderon. S o
G080 TE) B80S Tt N0 eV

(h= 6.6 x 1034 Js; Qoo 55 155503 = 9 x 1031 kg rr 3nFod)

Options :
28393618373, ¥ 5 x 10" Hz



28393618374, ¢ 4 x 10" Hz

28393618375, # 3 x 10" Hz

28393618376, * 1 x 10" Hz
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A hydrogen atom is excited from ground state to second excited state when it

absorbs a photon. The energy of the photon is
2,8 DPEFOD FR0THHS) I, 2.8 TFEBS DEATEDY BTN 0 Do

&8 Trons GBBS0 TOHVA0O. @ FEFS 45 Deed
Options :
28393618377. ¥ 3.4 eV

28393618378, # 10.2 eV

28393618379, ¢ 12.09 eV

28393618380, ¥ 12.75 eV
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The half-life period of an artificial radioactive substance is 10 days. The time taken

for the activity of the substance to reduce to 1% of its initial activity (in days) is
(log.10=2.303)

2.5 §)|8350 BATr 70,8 Hordo W) e 2 srexo 10 Tzren. & Hedo
BOSTRees 7 T3nE) SO 1EAiraod Densd Hod 1% % Sierdd 5 o0
(EerereT)

(log.10=2.303)
Options :
28393618381, ¥ 990



28393618382, ¥ 70.5
28393618383, ¢ 66.5

28393618384, % 46
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200 MeV of energy is released when a ¢2U?3? nucleus undergoes fission. A nuclear
reactor of power 192 MW uses Uranium-235 as fuel. Assume that all the energy
generated in the reactor arises from the fission of Uranium-235. The amount of

uranium consumed per minute by the nuclear reactor is nearly

2.8 U5 B0o|59%0 DD )BE S Fd )¢ 200 MeV 48 Debhde evyehod. 192 MW
0850 Ko 2.8 BodE B0IrEES” ANTACHO -235 D ROBS0 T DA .
BasTED ¢ s 1@ eoond 4§ eosr 5y UB DD 18 0B IDINE @l enod.
B0|58 BAIrED 2.8 QDTS DABITFHOT CINTAICHO DOSTEI0 D) T

Options :
28393618385, % 2-35 Mg

28393618386, % /-8 Mg
28393618387, v 141 mg

28393618388, % 5-40 8
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In a CE transistor amplifier, when a signal of 25 mV is added to the base-emitter
voltage, the collector current changes by 2 mA. If the load resistance is 5 k€, the
voltage gain of the amplifier is

2,8 CE 167098 58%0 &, es780 - &5r50 S8e5 § 25 mV HoSerd)) D898
L6063 HDTFoS 2 MA S3rEd)) Senthenod. grdd8R0 5 kQ eond S&Eo TBnE;

S H5H0 e
Options :
28393618389, ¥ 10

28393618390, ¥ 25

28393618391, ¥ 100

28393618392, ¢ 400
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The function of which logic gate is represented by the following truth table
) 8yt 580 TnE) DABHD (B80S AD IS A2HEE Hrdod

INPUT | OUTPUT
A| B Y A
0 0 1 INPUT LOGIC GATE =
T 1 d3%o S8y, o g80 5
1 0 1 B AP So
1 1 0

Options :

28393618393, ¥ OR
28393618394, ¥ AND

28393618395. ¢ NAND

28393618396, ¥ NOR
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A TV transmitting antenna is at a height of 80 m. The radio horizon of the

transmitting antenna is
(take radius of Earth = 6400 km)

2.8 639 DS esoBomry 80 m DRSS &od . (Hard esoBae) DT § o

(Srarsardo 6400 km e escngod)
Options :
28393618397. ¢ 32 km

28393618398 ¥ 64 km
28393618399, ¥ 1024 km

28393618400, ¥ 3215 km
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The radius of second orbit of He™ is
He' G308), B0 855 arsardo
Options :

28393618401, % 2.116 A

28393618402 ¢ 1.058 A
28393618403, % 0.265 A

28393618404, % 0.132 A
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The ratio of wavelengths of electron waves in two orbits is 4:3. Then the ratio of

kinetic energies of electrons in those orbits is
B0 5505 IO|FS © 308 BT AA)S 4:3, @0 & IO[FQ © H8z 8o

DA & 5 s’
Options :
28393618405. ¢ 9 : 16

28393618406. ¥ 16 : 9
28393618407, ¥ 4 : 3

28393618408, ¥ 3 : 4
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lonization enthalpies of five successive elements in a period are 899, 801, 1086,

1402 and 1314 kJ mol™! respectively. The corresponding elements are
2.8 DOOHE & DN KD HFOSE OFBOTEAS OO JeN ST 899, 801,

1086, 1402 508050 1314 kJ mol™! @ond e durerseen SSomr
Options :
28393618409 % L1, Be, B, C, N



28393618410 « Be, B, C, N, O
28393618411, # B, C, N, O, F

22393618412, % C, N, O, F, Ne
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N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
How many of the following molecules are polar?

BFs, NHz, CO3, SO, SO3, CCls, H20, SnCl

D TS’ (L0 @esHen I)?
Options :
28393618413, % 3

28393618414, ¢ 4
28393618415. # 5

28393618416. % 6

Question Number : 125 Question Id : 2839364605 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which of the following, ions are correctly arranged with respect to their bond

orders?
1808 ¢3¢5° BAHO 20REITE HEOMT aiFaY HOTDS o

SR AORTAl S e W
Options :

= - - o
28303618417, 8 N2 > 0> 07> G

28303618418 % OF = 0 >Na->C-

23393618419, % 22 >0z =0k > No

28393618420, ¢ Cr >Nt >0 >



Question Number : 126 Question Id : 2839364606 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
At T(K) a closed vessel contains equal weights of helium, methane and oxygen. If

the total pressure exerted by the mixture 1s 220 mm, then the partial pressure exerted

by methane is

T(K) S5 2.8 052 &) ar(e8eS’ D630 2roren He ardaHo, o SHOa5n es8yesd
FOS0YENT) oW, @ Eentf 2 Twedo 93¢hd0 220 mm oS DB S Fend F

8 & 3850
Options :
28393618421. % 110 mm

28393618422, # 160 mm
28393618423, ¢ 40 mm

28393618424, ¥ 73.3 mm

Question Number : 127 Question Id : 2839364607 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The corresponding coefficients of PH, and H,PO, in the following equation after

balancing are
1B0& DWESETR) S50 TS STeseh PH, HO050 H,PO, © T30y Heaseen
P,+ OH  + H,0 —» PH, + H,PO;
Options :
3 and 3 respectively
28393618425, % 3 e0OCIW 3 BT

| and 3 respectively
28393618426. ¢ 1 o088 3 SSodme

3 and 1 respectively
28393618427. ¥ 3 sNOCW 1 SR



2 and 3 respectively
28393618428, # 2«80 3 ST

Question Number : 128 Question Id : 2839364608 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is not an extensive property?
1808 7635’ DO DS 3820 °C?
Options :
Pressure
28393618429, ¥ S0

Enthalpy
28393618430. ¥ 05O

Heat capacity
28393618431, % 5RO

Internal energy
28393618432, % ©OHOEFE

Question Number : 129 Question Id : 2839364609 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
At T(K) the equilibrium constant for the gaseous reaction N, +3H, m—=2NH,1s

o : I 3
25. Then the equilibrium constant for the reaction NH, :; N, +EH1 at the

same temperature 1s

T(K) $@ N, +3H, ==2NH, 3 J°0in 58550 ddoerpe 9uroso 25, 0w

1 3
T a8l 5¢ NH, :ENE +5 H, 3T 3855 Sherde Doroso

Options :
28393618433, % 25

28393618434, ¥ 5

28393618435, ¢ 0.2



28393618436, ¥ 12.5

Question Number : 130 Question Id : 2839364610 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A): HaS has higher boiling point than H,O

Reason (R): Molecular mass of H>S i1s more than H>O

D23650 (A): HoO 0% HaS 50 @008 21 )2553ed a0 &oenod
5820 (R): HaS eoem (5s5: To7 HaO $0T) %005

The correct option among the following is
& 806 D )5S DOTHIE
Options :
(A) and (R) are true. (R) is the correct explanation of (A)
12393618437, % (A) 0O (R) DOTDS. (R) @A (A) 50 DO DG

(A) and (R) are true, but (R) is not the correct explanation of (A)
18393618438 % (A) DB (R) BTN, 57 (R) T (A) 50 SBTS DdGe 570

(A) is true but (R) 1s false
18393618439, % (A) SBST 52 (R) 2y

(A) 1s false but (R) 1s true
28393618440, ¢ (A) 3] 5 (R) SOTSA

Question Number : 131 Question Id : 2839364611 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the incorrect statement from the following
1808 ¢3S’ DO s HBosod
Options :
order of hydration enthalpies Li" < Na < K" <Rb" < Cs~
1839361844] ¢ STIBAR AOGFO I 8o Li"<Na"<K"<Rb" <Cs"

KO: is a superoxide



Thermal stability of Li,CO, < Na,CO, < K,CO, <Rb,CO, <Cs,CO,
28303618443, % TP DS 800 Li,CO, < Na,CO, < K,CO, < Rb,CO, < Cs,CO,

LiHCO, 1s not obtained in the solid form
28393618444, % LIHCO, R ada ErnosS oSN

Question Number : 132 Question Id : 2839364612 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The products formed when magnesium nitrate is decomposed upon heating

i) 0000 BRI & BA BRI VIS0 T AW ced o) en
Options :
28393618445 % MgO2, NO2, O2

28393618446, * Mg02, NO, Oz
28393618447, v MgO, NO2, Oz

28393618448, * MgO, NO, O;

Question Number : 133 Question Id : 2839364613 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The element of group 13 with lowest E° . (in V) is

B i (V ocS) R0 fie |17y 13 50 TodS Srerdo
Options :
28393618449, ¥ Ga

28393618450, ¢ Al
28393618451, ¥ In

28393618452, % TI

Question Number : 134 Question Id : 2839364614 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0



Correct statement among the following is

1808 ¢3S DB HOTS TS
Options :

+4 oxidation state of Pb is more stable
28393618453, % Pb T308) +4 e38388e0 P B0y B 50 S0 b

Catenation ability of C <Si < Ge <Sn <Pb
28393618454, % IR eS80 C<Si<Ge<Sn<Pb

Diamond has a crystalline Lattice
18393618455, P& 0)e38 el QU0 oLnod

Graphite is a bad conductor of electricity
28393618456, % TRE HOD DL 5750 57

Question Number : 135 Question Id : 2839364615 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The correct order of the relative stability of the following carbanions is

1808 5°B)0r® © arwf w1800

A, HC=C"
o

e

. I'Isl':'—'(:I'I,‘fEJI

a
D. H,c =CH
Options :
28393618457. ¥ A>D>C>B
28393618458. # A=B>D=>C

28393618459. ¥ B=D>C> A

28393618460. ¥ B=A>D>C



Question Number : 136 Question Id : 2839364616 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
An alkyl halide “X’ upon reaction with sodium metal in dry ether gives
2, 5-dimethyl hexane. What is “X’?

2.5 886 FBE ‘X' O &85 D08 oS FEAHO Srod &S0
2, 5- BaBSD TBIQ & AN0A. ‘X @00SD dA?
Options :
Isopropyl bromide
28393618461, % PTTRS B DE

Isobutyl bromide
28393618462, ¢ DT TSRS |BDE

Secondary butyl bromide
28393618463, % 50%0 arsBS (TS

Secondary Pentyl bromide
28393618464, % VSOB0 DOBWS (H'DE

Question Number : 137 Question Id : 2839364617 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is not correct about X and Y from the given
reactions?

1808 9850 0D, X, Y 08 50208008 oS IO SBIE 5°¢0?

Na/Liquid NH; | o

H;C-C=C-CH;—
H,

2 -y
PdIC
Options :
X is cis alkene and Y is trans alkene

18393618465, ¢ X OO DR 639, H8 Y T8 (¢rS) .S



X and Y are geometrical 1somers
28393618466, ¥ X SDOAN Yew E (& 3" sen

Dipole moment of X is less than Y
18393618467, % X% Q008 & §1E0S(@TenE0 Y 0T 580y

Y i1s less stable than X
28393618468, % X S7°) Y 8eb 50 503

Question Number : 138 Question Id : 2839364618 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
The product obtained when sodium salt of p - methyl benzoic acid 1s heated with

sodalime 1s
p — WBS BoE0wS e300 TCnE) FAONO OSTV) FE B & IQ T ST

553910
Options :

28393618469, #

28393618470, %

28393618471, %

28393618472, &

Question Number : 139 Question Id : 2839364619 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Atoms of element B form ccp lattice and atoms of A occupy 1/3 ™ of tetrahedral

voids. The formula of the compound formed by the elements A and B 1s
B &3 Sred QOarensyen cep Q)e38 2rosR)) SO 0aron. A @ Sres

DBATEN YN 1/3 & 2710 BIEF (S SO(FTPO &3 Saa" 0. o A Hdain B
OO BIAD JaIFS0 e

Options :

28393618473. ¢ Az Ba

28393618474, % A3z Bz
28393618475. % Aa B3

28393618476, % A3 B4

Question Number : 140 Question Id : 2839364620 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following 0.01 molal aqueous solution will have the highest freezing

point?
1808 ¢33 0.01 SrerS mrehed 65 2 DTS BOTSETRE B8R MDZSS arso

= ol elnY
Options :

Sodium Sulphate
28393618477, % FAODO NSO

Aluminium Sulphate
28393618478, % ©OTINIANO B HES

Potassium Chloride
28393618479, % TETACAHO STE

Sucrose

28393618480, ¢ &S

Question Number : 141 Question Id : 2839364621 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The molar conductances of sodium acetate, hydrochloric acid and sodium chloride
are 91.0, 425.9 and 126.4 S cm® mol™' respectively at 25 °C at infinite dilution. What
1s the molar conductance of acetic acid at infinite dilution?

25 °C 58 SFA0H0 @5, IPETH57D0 HOASH FAOHo §BH © Irerd
TETEhen 9506 DS S SEDM™ 91.0, 425.9 HOOW126.4 S cm? mol”! esowS

295065 DOB0 5 DNEE eeD0 Jrerd TeTrEed DOeh?
Options :
28393618481, ¢ 390.5 S cm’ mol™!

28393618482, * 461.3 S cm? mol”!
28393618483 % 643.3 S cm’ mol’

28393618484, % 43.5 S cm?mol™

Question Number : 142 Question Id : 2839364622 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The rate constant of a first order reaction is 6.4x10° S 'at47°Cand 1.6x107° 8"

at 27 °C. The activation energy for the reaction is around

(log 4 =0.6021, R = 8.314JK™' mol™)

2,8 (DD 1Z5r0d 585 Bew poro¥o e 47 °C &S5& 6.4x107° S vbasw 27 °C
SC1.6x107° S, 0N &8 983 B8 $8 SSrSmr

(log 4 =0.6021, R = 8.314JK ™' mol ")
Options :
78393618485, % 110.0 kJ mol™!

28393618486. * 27.0 kJ mol’!
28393618487, ¢ 55.0 kJ mol™!

28393618488, * 220.0 kJ mol!

Question Number : 143 Question Id : 2839364623 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following graph represents the correct relation between adsorption of a
gas on unit mass of solid adsorbent and pressure at a particular temperature?

1808 ¢35 DTPeh &F(Hed S5O, D5°0E (5550°2 KO 30 VRS’ @HTFHRZ0 D
©AFNR0 TOOS FAN DOITETVE DBTRE DS DB HDoVOTA) O™

Barae)o 06 7
Options :
lc-g'—T
m
]
28393618489, % logp —>

28393618490, ¥ ¥

28393618491, % logp —>

28393618492, ¥ p —

Question Number : 144 Question Id : 2839364624 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1B0& 3 2350805
List — I (erde —1) List —II (ez=&)e — 1)
(Reaction /<583) (Process/ |8c)
A ZnCO; —=>Zn0O + CO, I. Roasting
B.  2ZnS+30, - 2Zn0+280, i
C.  AlLO,+2NaOH +3H,0 —2Na[Al(OH),] . Calcination
250058820
III. Froth Floatation
D35S 1H18AH
IV. Leaching
ASE N0
The correct answer 1s
DB HIFTEID
Options :
28393618493, ¥ A—1 B-1I , C -1
28393618494, % A—1 B-1I , C-1V
28393618495, % A —11 B-1 , C -1
28393618496, ¥ A — 11, B-1 , C-1V

Question Number : 145 Question Id : 2839364625 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify X and Y in the following reaction

1Bo& 98565 X, Y @ 5800w

HNOE—PiglL:» X+Y

Options :
28393618497, % H:aPO;, N, O

28393618498, ¢ HPO;, N, O,



28393618499, % HPO;, N,O

28393618500, * H;PO;, NO

Question Number : 146 Question Id : 2839364626 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct statements from the following
1808 a¢3¢S° HOTS a5V 00

A. Peroxo bond is present in H2SOs and H25204
H2S0s 08050 H28:05 e3¢ 2078 ) 200650 &0oenod

B. S-0O-8 bonds are present in H2S;04
H»S,07 & S-0-S 2057en &0eron

£ Oxidizing power of H2503 18 more than H2S04
H2SO; 3BwE), es8 5886 arandso HaS04 50T 5036

D. In H28:0s, the two sulphur atoms have different oxidation states

H2S:05 €5 Bocdh 5038 HESrenyerdo D) e 18 Dehren Gotron
Options :
28393618501, * A B & Conly

28393618502, % B, C & D only

28393618503, v A & B only

28393618504, % C & D only

Question Number : 147 Question Id : 2839364627 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following property is not correctly matched?

1808 7365 &) BG20 DO BSHSIVSSE0?
Options :
HI > HBr > HCI > HF : Acidic character

19303618505, % HI = HBr=HCI>HF : &) ©§ €0



HF = HCI = HBr = HI : Bond dissociation enthalpy
18393618506, % HF > HC1 > HBr > HI : 2208 2)a0€ed D)Dc;j“és)g

HCIO = HBrO = HIO : Acidic character
13393618507, % HCIO > HBrO > HIO : essd ©& &0

HF > HC1 > HBr > HI : Reducing strength
13393618508, ¢ HF > HC1 > HBr > HI : § oh&&e 2200

Question Number : 148 Question Id : 2839364628 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following molecules contain same number of lone pair of electrons on
‘Xe’ atom.

1808 ¢3S" DTDH @enHOS ‘Ke' B DS oS 208 B0 IO\ TS e
EOE0N

A. XeF,
B. XeF,
C. XeOF,
D. XeO,

Options :
28393618509. ¥ A, B&C

28393618510, ¢ B, C & D

28393618511, # A, B&D

28393618512, % A, C & D

Question Number : 149 Question Id : 2839364629 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In aqueous solution identify the pair of 1ons which are colourless

20073605 & 208y AT B0 §8) G0’ HBotHEM
Options :



'h-‘_ 2+
28393618513, ¢ S¢”, Zn
28393618514, % SC°, Zn~

g 74
28393618515, % V-, Cu

34 14
28393618516, ¥ 11, Mn

Question Number : 150 Question Id : 2839364630 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How many of the following complexes are diamagnetic?

1Bo& e3¢5 S0S5r e9aHar) 0 ST $0& Hoaren ) ?

[CD(NH ]6]3_ . [CDFﬁ]E-. [Ni(CNLT_‘ I:Ni(CDL] g [NiCh ]:-

Options :
28393618517, # 5

28393618518, ¥ 4
28393618519, ¢ 3

28393618520, ¥ 2

Question Number : 151 Question Id : 2839364631 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A polymer sample contains 25 molecules with molecular mass 20,000 and 25
molecules with molecular mass 40,000. The number of average molecular mass of

polymer is

2.8 708 F0DS ¢ 20,000 eved |55:0°7 £ 25 evcnden SHBcsy 40,000

@£ (355073 DS @emshen 25 05, @ rOE e Howg e | BS503R
Options :
28393618521, ¢ 30,000

28393618522, % 50,000



28393618523, % 40,000

28393618524, % 60,000

Question Number : 152 Question Id : 2839364632 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, sulphur containing amino acids are
1808 B DB GS) DS e3dTen DN?

A. Lysine B. Cysteine  C. Proline D. Methionine
BVS NS FOS DOTBrIZS

Options :

28393618525, % A & B only

28393618526, % B & C only
28393618527, v B & D only

28393618528, % A & C only

Question Number : 153 Question Id : 2839364633 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

List — I (Example) List-II (Type of chemical
substance)
A. Cimetidine L Artificial sweetener
B. Alitame II. Analgesic
C. Morphine III.  Antacid
D. Iodoform IV.  Antifertility drug
V. Antiseptic
Bo&TE3Q) 23¢50 &80,
e — [ (Gorrdan) erder — I (SrahS Ko $50)
A, DDA I £1835% &) 57865
B. @) I J5OI8
M. e TS
E f{_}?ﬁg . IV. 880068 TAHd0

V.  asroe3gs

The correct answer 1s
DA QAT T

Options :
18393618529, ¥ A—LB-II,C-IV,D-V

28393618530 ¥ A—IILB-1L, C-1V,D -1l
28393618531, * A—V,B-I,C-1,D-1II

28393618532 ¢ A—IILB-1,C-1,D -V

Question Number : 154 Question Id : 2839364634 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the correct order of boiling points of the following alkyl halides?

1808 e8B)S IFBG ara1) PS5 Fare) DDEN0 O ?

L. CH. ~CH,-CH, ~CH, ~Cl
I1. CH,-CH, -CH, -CH, - Br

[1. CH,- CH,-CH-CH,
Br

IV. (H:C);:CBr
Options :
28393618533, ¢ L1 = 111 = 1V > |

28393618534, # 1 =11 = IV = 11
28393618535, # =1V =111 >

28393618536. # 1 = IV = 1I1 =11

Question Number : 155 Question Id : 2839364635 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : A mixture of o- and p- nitrophenols can be separated by steam distillation
Reason (R) : p-Nitrophenol is steam volatile due to intramolecular hydrogen bonding

QB0 (A) 1 0-, p- B DT OO DIFITR) 270 LS 1DESH @507 I DAY
5800 (R): p-8I&S o S e 0688 (intramolecular) 3 &S 22050 s&0mT
220 Jees Kb

The correct option among the following is

%808 D)5 KBTS
Options :

(A) and (R) are true. (R) is the correct explanation for (A)

58393618537, % (A) HBAM (R) SO (R) 0TS (A) Ho HEToed Deddea

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393618538, % (A) HBAW (R) SBTSD, R (R) I (A) Ko ST D56 57

(A) is true, but (R) is false
28393618539, ¢ (A) QOPIA 5% (R) 52y



(A) is false but (R) 1s true
28303618540, % (A) $2) 5 (R) SBFSS

Question Number : 156 Question Id : 2839364636 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The products A, B and C in the following reactions are respectively

1808 H8sS" A, B 58050 C &T ereb )iy e SEdm

Cu
CHs - (.ITH . CH;W‘ A

OH
OH
Conc. HNO: B
m¢d HNO:
OH
CHCh + NaOH (aq) .
CHCl: + NaOH (23)
Options :
OH
CH; - C - CH; O:N NO:
Il ’
O
28393618541, ¢ NO:

28393618542, #

OH
O:N NO:
CH: - CH =CH:»

NO:

28393618543, %

OH
, CHO

OH
@/CHO

OH OH
CH:-C-CHs @ COOH

I

O . NO2 5



28393618544, #

OH OH

CH: - CH = CH, 00

Question Number : 157 Question Id : 2839364637 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Compounds that participate in self aldol condensation are

DL0H0 SEPS HDONSS 985S TR D Faren

~.-CHO o 0

) _~_COCH, I
] HCHO o M

O

A B C D E

Options :
28393618545, % A, B, C & E only

28393618547, % B, D & E only

28393618548, v B & D only

Question Number : 158 Question Id : 2839364638 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The correct order of pK, values for the following compounds is

808 S iFore pKa dende SOT (B0

COOH COOH COOH
F;C COOH
N CH,
A B B D

Options :
28393618549. ¥ A=D>C=>B

28393618550. ¥ D>A>C>1B
28393618551. ¥ D=>=B > A= C

28393618552. ¥ B=>A>D>C

Question Number : 159 Question Id : 2839364639 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the products X and Y in the following reactions
1BoA B5&2eeT X 50000 Y @ 580505

Br-+MNa0OH CHCl.+K0H
= » X 3 >Y

Benzamide e s

SO

Options :
28393618553, % C,H,CH.,NH,, CCH,CH,CN

28393618554 i CF'H:‘CH:NHE, L‘ﬁHqCH:NC
H,NH,, CH,CN

28393618555, # C

28393618556, ¢ CeHsNH,,  CHNC



Question Number : 160 Question Id : 2839364640 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The major products P, Q and R respectively in the following reaction sequence are
1B0A 5850 (5006 DTS eredreyen P, Q sH8asm R e SSdm

iy
- NaNO,+HCl _ ,, CuCN 1) CH; Mg Br

o 0°C Py ~ A o

1@“’ @CN @ E CH,

R

Options :

28393618557. ¢

("‘“‘x N,Cl NC H
@ N
L /T O @’ “CH,
28393618558, #
NO, CN T
O GO
28393618559. #
NO, NC ) E
28393618560. #



